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When you combine multiple perceptrons, you get a multilayered perceptron, a network of many
neurons (see Figure 10.13). Some are input neurons and receive the initial inputs, some are part of
what’s called a hidden layer (as they’re connected to neither the inputs nor the outputs of the
network directly), and then there are the output neurons, from which the results are read.

Up until now, I've been visualizing a singular perceptron with one circle representing a neuron
processing its input signals. Now, as | move on to larger networks, it’'s more typical to represent all the
elements (inputs, neurons, outputs) as circles, with arrows that indicate the flow of data. In

Figure 10.13, you can see the inputs and bias flowing into the hidden layer, which then flows to the

output.
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When you combine multiple perceptrons, you get a multilayered perceptron, a network of many
neurons (see Figure 10.13). Some are input neurons and receive the initial inputs, some are part of
what’s called a hidden layer (as they’re connected to neither the inputs nor the outputs of the

network directly), and then there are the output neurons, from which the results are read.

Up until now, I've been visualizing a singular perceptron with one circle representing a neuron
processing its input signals. Now, as | move on to larger networks, it’s more typical to represent all
the elements (inputs, neurons, outputs) as circles, with arrows that indicate the flow of data. In
Figure 10.13, you can see the inputs and bias flowing into the hidden layer, which then flows to the

output.
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When you combine multiple perceptrons, you get a multilayered perceptron, a network of many
neurons (see Figure 10.13). Some are input neurons and receive the initial inputs, some are part of
what’s called a hidden layer (as they’re connected to neither the inputs nor the outputs of the

network directly), and then there are the output neurons, from which the results are read.

Up until now, I've been visualizing a singular perceptron with one circle representing a neuron
processing its input signals. Now, as | move on to larger networks, it’'s more typical to represent all
the elements (inputs, neurons, outputs) as circles, with arrows that indicate the flow of data. In
Figure 10.13, you can see the inputs and bias flowing into the hidden layer, which then flows to the

output.
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When you combine multiple perceptrons, you get a multilayered perceptron, a network of many
neurons (see Figure 10.13). Some are input neurons and receive the initial inputs, some are part of
what’s called a hidden layer (as they’re connected to neither the inputs nor the outputs of the
network directly), and then there are the output neurons, from which the results are read.

Up until now, I've been visualizing a singular perceptron with one circle representing a neuron
processing its input signals. Now, as | move on to larger networks, it’s more typical to represent all
the elements (inputs, neurons, outputs) as circles, with arrows that indicate the flow of data. In
Figure 10.13, you can see the inputs and bias flowing into the hidden layer, which then flows to the
output.
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When you combine multiple perceptrons, you get a multilayered perceptron, a network of many
neurons (see Figure 10.13). Some are input neurons and receive the initial inputs, some are part of
what’s called a hidden layer (as they’re connected to neither the inputs nor the outputs of the

network directly), and then there are the output neurons, from which the results are read.

Up until now, I've been visualizing a singular perceptron with one circle representing a neuron
processing its input signals. Now, as | move on to larger networks, it’s more typical to represent
all the elements (inputs, neurons, outputs) as circles, with arrows that indicate the flow of data.
In Figure 10.13, you can see the inputs and bias flowing into the hidden layer, which then flows to
the output.
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When you combine multiple perceptrons, you get a multilayered perceptron, a network of many
neurons (see Figure 10.13). Some are input neurons and receive the initial inputs, some are part of
what’s called a hidden layer (as they’re connected to neither the inputs nor the outputs of the

network directly), and then there are the output neurons, from which the results are read.

Up until now, I’ve been visualizing a singular perceptron with one circle representing a neuron
processing its input signals. Now, as | move on to larger networks, it’s more typical to represent
all the elements (inputs, neurons, outputs) as circles, with arrows that indicate the flow of data.
In Figure 10.13, you can see the inputs and bias flowing into the hidden layer, which then flows
to the output.
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When you combine multiple perceptrons, you get a multilayered perceptron, a network of many
neurons (see Figure 10.13). Some are input neurons and receive the initial inputs, some are part of
what’s called a hidden layer (as they’re connected to neither the inputs nor the outputs of the
network directly), and then there are the output neurons, from which the results are read.

Up until now, I’'ve been visualizing a singular perceptron with one circle representing a neuron
processing its input signals. Now, as | move on to larger networks, it’s more typical to
represent all the elements (inputs, neurons, outputs) as circles, with arrows that indicate the
flow of data. In Figure 10.13, you can see the inputs and bias flowing into the hidden layer,

which then flows to the output.
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When you combine multiple perceptrons, you get a multilayered perceptron, a network of many
neurons (see Figure 10.13). Some are input neurons and receive the initial inputs, some are part of
what’s called a hidden layer (as they’re connected to neither the inputs nor the outputs of the

network directly), and then there are the output neurons, from which the results are read.

Up until now, I've been visualizing a singular perceptron with one circle representing a neuron
processing its input signals. Now, as | move on to larger networks, it’s more typical to
represent all the elements (inputs, neurons, outputs) as circles, with arrows that indicate the
flow of data. In Figure 10.13, you can see the inputs and bias flowing into the hidden layer,

which then flows to the output.
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When you combine multiple perceptrons, you get a multilayered perceptron, a network of many
neurons (see Figure 10.13). Some are input neurons and receive the initial inputs, some are part of
what’s called a hidden layer (as they’re connected to neither the inputs nor the outputs of the

network directly), and then there are the output neurons, from which the results are read.

Up until now, I’'ve been visualizing a singular perceptron with one circle representing a
neuron processing its input signals. Now, as | move on to larger networks, it’s more typical to
represent all the elements (inputs, neurons, outputs) as circles, with arrows that indicate the
flow of data. In Figure 10.13, you can see the inputs and bias flowing into the hidden layer,
which then flows to the output.
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